22.04.2020

L.O: To add two 2 digit numbers.

Record your answers in your home learning book. Draw a bar model for
guestions 1-3 and write out the number sentences.

A bar model for 73 + 15 = 88

88

73

15

o Find the sum of 34 and23

o)

64 +12= —
4ones+2ones= |

6 tens + 1 ten=§

o Hamza has 41 sweets.

Jemima has 55 sweets.

How many sweets do they have altogether?

Problem solving:

What digits could go in the boxes?

There are lots of different possible
answers for this one, so you will
need to try more than once!
Record your workings out so you
can check whether your answer
equals 87.



